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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-4 0
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P3-4

BfiE) | GEBAK ) | ERE (EAR/H) | BERERE (B/R) | XS R

07:50 268 150.0 25. 83 FH| FnHA@07:50 KRFFIEF CRAERES)
08:30 268 150.0 25. 83 FH| FiHA@08:30 KENFEF (FAFERE)
09:30 268 150.0 25. 83 FA| HR@09:30 KRFMIZHF (RALER)
10:15 268 150.0 25. 83 FR| FHA@10:15 KRENFZF (KRFAEES)
10:55 268 150.0 25. 83 BH| FhHA@10:55 KENF2F (KRAERES)
11:35 268 150.0 25. 83 FA| FhHR@11:35 RAMIEHF (CRALESR)
12:15 268 150.0 25. 83 FR| FHA@12:15 KREFZF (KRFAEES)
12:50 268 150.0 25. 83 FR| FhHA@12:50 KRENFZF (KRAARES)
13:30 268 150.0 25. 83 FA| hHR@13:30 RHMIZHF (CRAKLESR)
14:10 268 150.0 25. 83 f|  FHAe14:10 KREFZEF (KRFAEES)
14:50 268 150. 0 25. 83 M| FiHfe14:50 KREEF (RAERBE)
15:35 268 150.0 25. 83 FH| FiHA@15:35 KREFEF (RAFEHE)
16:30 268 150.0 25. 83 M| FiHAe16:30 RFIEF (KREHERES)
=it 3484.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 6.0
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P3-4_0, Day=63 (2025-05-31)
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P3-4

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS R

06:25 278 150.0 25. 83 FA| 1B2i%@06:25 Bzh (kAB{ERESE)
07:15 278 150.0 25. 83 FE| 1BRi&@07:15 Bzh (GRAEREE)
08:00 278 150.0 25. 83 FA| 1BRi%@08:00 B3h (FKA{EREEE)
08:55 278 150.0 25. 83 FA| 1B2i%@08:55 Bzh (kABIEREE)
10:10 278 150. 0 25. 83 FA| 1BRi%@10:10 B3h (RA{ERSE)
11:00 278 150.0 25. 83 FA| 1BRi%@11:00 B3h (KRAHERESE)
11:40 278 150. 0 25. 83 FA| 1BRi%@11:40 Bzh (RkAIEREE)
12:20 278 150.0 25. 83 FA| {Ri%e@12:20 Bz (GRAEEE)
13:05 278 150.0 25. 83 FA| 1BRi%@13:05 B3h (KRAERSE)
13:50 278 150. 0 25. 83 FA| 1B2i%@13:50 B3h (kAIEREE)
14:55 278 150.0 25. 83 FA| 1BRi%@14:55 B3h (RAB{ERE)
16:10 278 150.0 25. 83 FA| 1BRi%@16:10 B3h (KRAMERESE)
24t 3336.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

[BI;&EC 5717.0 K&, EiFA{RECAE& itk E R
#HEKRECE (2220.0 vs 5717.0) 5
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P3-4

BrE) | GEBAK @) | ERE(EH/AR | EREE (F/R) [ XS SRR

07:15 273 150.0 25. 83 & Bi&e07:15 B3h (RAFEREE)
07:50 273 150.0 25. 83 & B2i1%@07:50 B3h (kBIEREE)
08:25 273 150. 0 25. 83 & ’Ri%@08:25 Bz (kAERESE)
09:00 273 150.0 25.83 & & Bi%@09:00 B3h (FkAFEREE)
09:45 273 150.0 25.83 & & B2i%@09:45 B3h (kBIEREE)
10:25 273 150.0 25.83 (& & B2i%@10:25 Bzh (RAEREE)
11:05 273 150. 0 25.83 & & BRige11:05 Bzh (REERSE)
11:45 273 150.0 25.83 |B = BRige11:45 Bz (GRFAEREEE)
12:25 273 150.0 25.83 & Bige12:25 Bzh (kBEREE)
13:05 273 150. 0 25. 83 5 Ri%e13:05 Bz (RAERESE)
13:40 273 150.0 25. 83 5 Bi18@13:40 B3h (KRBERKSE)
14:10 273 150.0 25. 83 5 Bi%e14:10 Bzh (kPBEREE)
14:40 273 150. 0 25. 83 5 Ri%e14:40 Bzh (GRAERSE)
15:15 273 150.0 25. 83 & BRige15:15 Bz CGRAERSE)
15:55 273 150.0 25. 83 & Big@15:55 Bz (FREERESE)
16:55 273 150.0 25.83 |Z=| #iTHe16:55 B (RAERESE)
2t 4368.0 (16)%) 2400. 0 3 WHKEC: 2080.0, PH: 6.0

[E;&EC 5690.0 K5, EiNF{KECAE&M%ER
#[EKRECE (2323.0 vs 5690.0) 15
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P3-4

BfiE) | GEBATK (D) | ERE (EA/K) | ERERE (B/R) | XS R

07:15 278 150. 0 25. 83 E BRi&e07:15 Bzl (GRAERESE)
07:50 278 150. 0 25. 83 = {RRi8007:50 Bah (RAEESE)
08:25 278 150.0 25. 83 = {RRiB008:25 B (FRFAEEE)
09:00 278 150. 0 25. 83 E 1BRi&@09:00 Bzl (RAEREE)
09:30 278 150.0 25. 83 5| {Ri%@09:30 B3 (FAMERSE)
10:10 278 150.0 25. 83 =l RRiB010:10 Bz (RFAEEE)
10:45 278 150.0 25. 83 = RRiB010:45 Bz (REAKEE)
11:20 278 150. 0 25. 83 =l RiB011:20 B3 (RAEESE)
11:55 278 150.0 25. 83 =l {Rige11:55 B3 (RAERSE)
12:30 278 150.0 25. 83 Sl {Rige12:30 B3 (RAERSE)
13:05 278 150. 0 25. 83 E| {Rig@13:05 Bzh (RE{ERSE)
13:40 278 150.0 25. 83 F BRige13:40 Bz CGRAERESE)
14:10 278 150.0 25. 83 S| {Rige14:10 B3 (RAERSE)
14:40 278 150. 0 25. 83 E BRige14:40 Bz CGRAERESE)
15:10 278 150.0 25. 83 F[ BRige15:10 Bz CGRAEREE)
15:40 278 150.0 25. 83 | 1RiRe15:40 B (KREERSR)
16:15 278 150. 0 25. 83 E BRige16:15 Bzl (GRAERESE)
16:55 278 150. 0 25. 83 = RRiB016:55 BHah (RAEESE)
24t]5004.0 (18)%) 2700. 0 323 KEC: 2080.0, PH: 5.8

[E;&EC 5590.0 K5, EiNF{KECAE & M%ER
#[EKECZE (2400. 0 vs 5590.0) 15
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P3-4_0, Day=60 (2025-05-28)
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